xPsin (l) x #0 is differentiable atx = 0if

1. e function f(x) = { x
0 x=0 ~0
p>0 o) p:
) p>1 @ p~

@5 f(x) = ["ps""(i)"‘ £0 -3 3eHd J A9
0 x=0 ' ,
(@ p>0 ‘ (b). sz : C',TM]&‘P(‘SW"(\—§M)
() p>1 - @ p //L/ . — _
| | e (17
e T\
ol % | - ® 9 1 | 3 ﬂ,-x'?a’ﬁd’&f
Y © 7 | @ -3 - Nr g _
= & sinx d : .
aaa)i= tan™* (1+cosx) mﬁ-= ‘”— 'ﬁfiﬁw*“?')[” CM
@@ 3 b 0 A _ | .(» |
© 3 @ - L S I
, 4 d | ) 54 IW
@ x' . | /fb')/ X" lfog(ex) o :
(c) x'logx . (d) x" logx B Y= @M‘.’ ,
@ 7:; (x*) THET . _ . N WYY e M o)
@ x | & coge b, 9(AAT
(c) - x*logx (d) ‘x"— log x 3 !’7 l-aap. | MC‘¢M/
4. If x =a(t—sint),y =a (71 + cos t) then %# 2 gy | = %’;fx':m
(a) -—tan (-,:;) o : (b)- cot (—tz-) » S‘M(Iyt»l’” _,:w : |
/@4 —cot(z) | (@ dtqn & - WMV = w
| ?IEl’cJ’x=a(t—sint),y:a(1+(:ost')1%?!;1—= R '_&63'} _’ff*
o) e Y
O w® @ b

. (Y

‘ er =32 v = 3 a’y _
sl Hx_t py t then dxz

03 - Ay SRR
@ © @3 v 63-%@"
P x=tLy=t3 fegd2 = 2
. s »J o dx? ' , .. }‘k .
(Mh) 2 4}?” )
aths Pg .




@

6.

To which of the following, Rolle’s theorem can be applied ?

(@ f(x) =tanxin|[0,n] /(b) f(x) = cos (1) in[-1,1]
f(x) = x%in[2,3] /(d) f(x) = x(x +3)in [-3,0]

/gﬁfﬁwfé@m%mlles@fﬂmmaﬂa@%
(@ f(x)=tanxin[0,m] (b) f(x) = cos (i) in[-1,1]
c) fx)= x%in[2,3] @ f(x) = x(x+3)in[-3,0]

7. sin8 4+ V3 cos 0 is maximum when ‘ | _f& \
(@ 0=60° Ao 0-30° e k¢
€ 0=45° Ay 0=90° LeRg B
sinf + V3 cos itz I AT "ﬁ' | (_5;» w_*
(@) 0=60° | (b 6=30° I <4
(©) 06=45° | ) 6=90" | | >
— 16— x2atx =1is v~ )’JBf
8. '(l";;c sl(())pe of thé tangent to thé curve y WL | . J 5/ /2 %
© =2 @ 15 c Y/
x—1§€a‘d’y=16—x2€r€w’€3 , - ™
- (a O _ ' ® 2 . . | ‘ﬁ;s, = ('V" _
/@/_2 ' | ' (d) 15 ) 3'\1{' RE A |
‘ The function f(x) = 1+|x| /a»/ A : 7/’“‘\:57,/‘
1 : strictly decreasing
2‘3 it;fl:e}; 122::::112 nor decreasmg (d) not differentiable at X = 0 . /1’, '
i i o (b) uleer
: gt &% Suer dfenr

22; o dger srufeer @ x= 0%?@5’}-13(&'?\'

P

%
\%;\&
?@ \
A

The time required to reach the maximum height when a stone thrown vertically upward
satisfies the equation s = 80t — 16 t2 % s |

(a 2 Sl
@ 2 s )
;c})ﬂa'a;s—sm—wtzsﬂgﬂzaa@feauaaﬂ?fnw@uam;wésf%%
»rfuaBH@aTéT %m&émw% ] ,I// ,WM’”
@ 2 ® 25  a- [ g
© 3 - ' @ 0 ' 4;%‘
v ' d)_\ o /‘F‘\p .
The derivative of sin™*x w.ri. cos 1\/@7/(1 x2) i 1s _0/, ,
(a) z 1—x2 N . _ v
c) i d V1-x? J}&/ d/{g'
-1y ¥ w.rt. COS -1./(1 - x?) 7y fe@3us 3 R | 51 L
-0 == Eﬂr/'

(P& @ i—=% ﬁﬂ
/Wﬂ 3 " ’ )

, — =2
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o % xi ,
12. The function f(x) = { xls rc'ztwn.al is
1-x,xisirrational =~

continuous at all points (b) discontinuous at all points
, 1
(c)., continuous at x = 2 only (d) discontinuous at x = %only

X, x is rational
S®%6 f(x) = {
f(x) = 1-xxis lrrattonal

(a) A oot 3 fadze (b) A fifenr 3 nifsdza
(© fsex=: 3fsdse (&) fAge x = 2 3 nifsd=d
| 13.  If f(x) = [x]_i.s the greatest intégef function, then xlTl f(x)

(@) is0 (b) isl

() is2 : . AdY" does not exist

FFI f(x) = [x] ngzauaawmﬁfaa “m f® J

(@ is0 o (b) 1sl .

() is2 - (d) Hﬂ?mﬁ ' o M%

, : S : WM _. 7. Son

lim 14243+ .+n . ' %U“’a? -~ /"9;

. m X y
B L Z'Z;g':) 2 7&&/
/Ml/z _ ®) 2 E | £
€ (© 0 , @ 1 _ _-
@ lim 1+2+43+ sy ' : '

n—o n?+10 ' '

_ (@ 122 () 2
' () 0 @d 1

@ The function flx) = —~is differentiable in |

1+|x]|

/@' (00, ) - (®) (0,0
© (0,) | @« (0, 0)U (0, )
%5 f(x) = 1+|x| J ‘ | | B
@ (o,) | B (2,0 ‘ Q
© 0, @ (=0, 0) U (0, ) P
16. The normal to a given curve is parallel to X—axis if y | |
, _% =0 | | (b) % —0 ¥ -
© == @ =1
ﬁz'frme?f‘é‘aaa"de* normal X—ax1s W%maﬁm o W
(a) % =0 | (b) E:E 'i 0 _
© 2=1 @ &1
(Maths) 4 _ B
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' Sm»u‘/"‘\
) e'°gl(5i"") dx is equal to : J\/_ _ G,M’/

—cosx +p (b) cosx+p
. (). si_fl X+p (d) —sinx + p,pisa constant é/\___p
T e'%8 (inx) gy srgreg I -
(@ =—cosx+p (b) cosx+p ‘ S
() sinx+p ‘ (d ~—sinx+p, p RTEt vig 3 -
18. f; [x]dx, where [x] is greatest integer function is equal to [-,L‘) [’M J
) 0, & 4 - ,2, 4,
[P [l [x] miftieri Yo viol 5% 3 Emed 3 s cm m
(@ 2 ®) 3 | o
© 0 | | @ 4 ) L o (gy/
: n ‘ : . . . O'r - | q - \
19. [Zsinxdxisequalto ¥ ' #K ' /,}
= “L ens

@ 1 | . | | .
<c) 2 a0 . :

T _. _ | e,

E,Esinxdx‘a'df‘aafr : ‘ | _‘,6’5(’9@)’&6

2 . /6’6
(@ 1 (b) -1
@2 - 9r (o
Y . N B - T . =
@ JZ ‘/—__—_% dx is equal to - | _]Z.:..r‘»- T Je- ,
a) 0 e (b) % ﬁ,{'m-—- -{wua"‘*‘
g ", _ | dy = <2 r,ﬁf
14 / \/S_in_x . ) .
| éﬁd’fwa o sm-J/‘-
@ 0 o ® |
(©) g' : ". : ' d = _ Z v s[ Y
4 ' . ) ) . h .
’ 2 :«1/ 4 ; . l?‘l i l t’/
. 21. The value off0 fo fo dx_dy_dz 18 : M‘S‘b" ‘ E ‘
@2 - NORE > \
P23 [ dxdydz e 8 3
(@ 2 . b)) 3 : .
(c) 4 (d 24 o
; ' g ' (Maths)
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| 22. Ifx =T cos 6,y =rsing then Jacobian 2 I y; is equal to L(\
(@)  sin@ ) by cosB |
/i‘ (d) r?sinfcosé ’_b;mﬁd_g"l{ 4{‘
ﬁaax—rcosey—rsmeféamg?gwa |
sin@ (b) cos@ o -
(© r d) r? sin 6 cos 6

_ @’l}%area of the curve x = acost,y = bsint, when t varies from 0 to 27 is
n ab '
B (©)

mab — /Cb)” 2w ab /_-b&

()
Sod ¥'x = acost,y = bsmtaEElEEFErtOs'ZnS’amwa
(@) mab . - (b) 2mab
C {c) 4mab _ (d) 3:: , /UL

@ The centre of gravity of arc of the curve x = a cos36,y = a sin30 lying in the first
quadrantis at . . - 2N

B @ (0,0) LT ®) @)

© ©oa s (R

%'aax—acjossey—asm?‘e %Qﬁ%mm?ﬁauﬁlﬁquadrantﬁg

ger J: |
(@ (00’3 . (b) -(a0)’3
(C) (O a) ’g . . : (d) ‘ Za 2a :

25. The order of differential mﬂwﬁ—@fw is w/
(a ‘1 .

- (© 3 (d) 4 :

W—Magﬁmwmﬁm@ma
@ 1 : o (b) 2 ; _ c
0 3 A (d) 4 : | d,’ix(‘;?a

26 Integratmg'factor of differential equation cos x = + ysinx =1is . tg o J;

b A x =< J
(a). sin x . (b) cos x
secx : (d) tanx | j‘-{."‘é o
m&mﬁa‘dﬁcosx—+ ysmx—lETmtegratmgaaE‘o’ e
(a) sinx | ___Ab)}>cosx 6\ e
(c) secx N , ' (d) tan X \
127. Th 1fferent1al equanon (x+ x®+ ay?) dx + (y - y + bxy)dy 0 is exact ,;
BRI "b=2a . _AbY a=b
J" (c) a#2b : - (d a=2b c"d
" ‘ﬁa@ﬁmﬁaaﬁ(x+x9+ ayz)dx+(y —y+bxy)dy 0ga=tddam -

(c) a;=2b , | (d) a=2b d/\\ x ,0:3

L

<M=ﬂ-->-_ o ém- N 'Jw%’““\“
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28. PI Of_"*' a y— sinax is

- _._ | X
5 cosax /(15) 22 COs ax

) - 7 cos ax (d) 52-’5 cos ax
d2
: d_x2+ azy =sinax @ P.I. J
. x
(@ - ?.E cos ax (b) —cosax
(c) —cosax @ % cos ax
29. ) The differential equation x? Zx—’z' + xj—: + (- n?)y=0is
/(a')_/Legendre’s Equation ff Bessel’s Equation
(c) Laguerre’s Equation (d) ‘Heat Equation
@wgwamﬂaasxzd 2+ x4 (12 - n?)y =03
(a) Legendre’s mﬂaa?s _ (b) Bessel’s mﬂaaa
© Laguene’s Miggs (d Heat e
30. Ifj,(x) denotes Bessel function of first kind and ]n+1(X) = = ]n (x) - ]o (x) then nis
@ o0 | - () 2 N ‘ ‘
c) -1 - _AdJ” None of these

ﬁaajn(x) Uﬁl?ﬂ'ﬁﬂﬂ T Bessel&!&?‘; 3 SIrgeEr R ES
]n‘+1(x) =z ]n(x) ]o(x), fegn 3

(@ O . L ®) 2

. © -1 - @ feost RS S &R :
' S fﬁ?
: @ If p,,(x) is Legendre polynom1al of order n and f Pn (x)dx =2 then 1 is
: (b) 1 | |
(a) . __1 i ' ) (d) 2 , ( )/G ( ) "’q
‘ p,,(x) n eaﬁ or Legendre polynomial I m3 f p,,(x)dx =2 fea' 1 I z . &
e R ' 4 ,\\0‘”’“
8 -1 | “ . @ 2 | N v/;o

32. Ifa.b,¢ are non—coplanar vectors, then the vectors 5(1' + 6b + 7¢, 7d — .S'b +9¢ and

3d + 20b + 5¢ are | O _
(a) . collinear : y ‘coplanar af

(d) non—collinear -

non—coplanar
ﬁa'a bc%az'aazs faa%aza5a+6b+ 7c7a—8b+96 m33d + 20b+ 58
I | |
(a) TBIOMIT - (b) a—uz?a'a
©) sBE-®EE @ &5

7 "' (Muths)
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TSR

| % 2 |
@iﬂ;’%‘@é gt @D ) et

—- f\

HmL.3r1_4amua+M 5, then |d = B| = q-16 =,
(@ 8 — /(5)45 «y‘, (q,g./;ﬁ;“'m
) 4 d 3 QHG,Z:N
Aad |d| = 3,|b] = 4and|a+b|- 5, feg |d - bl = G
(a) 8 | - () 5 .
© 4 d 3 \a*b,.’orﬂ 3

34. If6Bisthe angle between two unit vectors d and b, then cose is equal to W 2 A
@ d+b T ) d-b (ra > —

/@ffab | @ |‘a’x‘F|'

(c). a.b @ |—' x B ‘
35. The unit vector perpendicular to bothl+ ] and Jj + kls Y
@ T+k ). -k A A
— j+k ‘, e i+ j-k
@/ie)/”ﬁ @ EE
T+ 737+ kea%saféa*éf%aza% |
: @ [+k ® [-k
i-j+k _ I+j-k
(©) 7 | @ =7 =
36. 'I'hepio'l ion of the vector l*—_l2'j'+ k on the vector 41 — 47 + Tk is ' _7 ‘/J{\P’
/ﬁﬁ;}m ERORE - _éilz,’_ :
%azal'— 2+ k ¥ A - 47+ TR ‘IyEuE Y Ce \:\:"\‘,‘I/c‘ N
: .19 .9 ..
S _(a)._%. ® = A
V6 19
© w =
. 37. Ifd,b, Earenon—zerovectorssuchthata X b-t'z' x ¢ then Foo
e m‘iﬁlﬁr“ ) &B.Earemutuallyperpendxcular‘;. ,’
@ (c) d&,b,é are.coplanar _Ady b=¢ '
g d,b eI TS Taxb=dx dfeg |
| (a) dand b are parallel : ®) b, & are mutually perpendlcular

o
-

(c) d,b,&are coplanar (@ 2

E (Maths) | - 8 . B
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p—y
)
Q
[~ J}

+ b| =|d — b|, then

)(34 ; and ? are perpendicular to each other (b) d is parallel to b
— (4] B
=g @d b= 3
Nod |d + b|=|d - b, fe9 )=
(@) dmM3pfragaedgas (b) d bRmrstzgd
() d=8 @ b=2d

39.

If d, b, ¢ are three non—coplanar vectors then [d + /{ + ¢ i— ¢cad 4/%] is équal‘to
: . — . A )

@ [abéd ) -2[d b g

© :g[a.b:a] ST i
ﬁaaq,*blcﬁaaamm%azaaagr[@q b+ig-¢ i - b &=e 3
| (@) [‘”’a].. L ® -2[@bé] ;’_ L
/ e L o 2
4? The solution set of |x — 2| = 3 is_ | R S wp 473
. ga; :||:5 00[5] (b‘) ]-w1] - @9‘_.-9, 73 I
¢) J- o (@dAA-o1] U [5 . -1
) e ety - LTIV Sy,
' : L) v A » Lty / [gr’j
(@ [5of . | ®) J-o1] o Al
© l-=51 - @ J~oufsel ..
i T
@ The solution set of z—ssx < 1? < 3?‘ is "Séiff 4
© |3 @ - o
2-3x_ 1-x _ 344X M. o ol P ‘
_s —< 3f 2 ﬁzg{ma. - |
@ J=3 BEENCHILE EE
© |3 | O %
42. The unioﬁ of two subspaces of a vector space V is o
Wlways asubspace R
(b) neverasubspace . L.
' /(r—)f' a subspace if one is contained in the other -
(d) ‘“a‘subspacéiffand only if their-intersection is {0} y -
mmv%ésubspaces?ﬁalﬁ e e BRI 7
(a) TR fE€ subspace B R AT
®) e subspace &d1
© féasubSpawﬁaaﬁagﬂaﬁ?mﬁma
@ &= subspace?réﬁmg’fﬂaaﬁ'a'aa'?”m} G| L
9 (Maths)
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43. The dimension of the vector space C of all complex numbers over the field R of all real

number is

A0 ®) 1

%2 (d) infinite

Attt wiFes Aftret @ 339 R @ U9 Ao e dfimret & ¥a2d AUR C T o 3
(@ O | b 1

() 2 : | (d) 3

44. The equation of the straight line perpendicular to y = x and passing through (3,2) is

(@ y=—x b) x+y+5=0
| X+y-5=0 - (d) 3x+2y=0
@ y=x ¥ B0 (32) I B IR ik I A AitEs Y

- (@ y==x : o ) x+y+5=0

(c) x+y-5=0 - ' : @ 3x+2y=0

- 45. The join of (-3, 2) and (4, 6) is cut by the X—axis in the ratio.
(2 2:3internally ' | (b)_ 1:2externally

—71:3 internally ‘ ~ 1.3 externally
" (=3,2) M3 (4,6) T WA X-axis AT fER higurs g fenr AT @

(@ »egar3g323. . (b)) FRI3I[II2
(c) negdt3e313 0000 @ FTIR39313

46. The distance between the lines 2x + 3y —2=0and 2x + 3y -4 =0 is
(a V13 | ey ®

y " _ - _ . 3 vi . _ -
— = s VR
et 2x +3y—2=0 W3 2x+3y-4=0 T REEIEHI F"‘%}//‘j
@ Vi3 ® 7= S ut

)=
w

“ o (2
. ' o 2-4] 2
47. Theanglebetweenthelines-2x—y+3=0a1_1dxf2y+3=013_ ,—-—-ﬁ_;———,. =
@ 0 : (b)%f A.@‘;él'/. m e =V
© 7 ATy ‘o
@ Jyet 2x-y+3=0 y)I'S'vx+2y+3l‘-—-0 féﬁgﬁfa @@ 2y oo
@ O . S ® 3 - r+;¢?‘
© 7 : e o
0 - B

Maths)
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The equation of the diameter of the circle x> + y* — 6x + 2y =0 whnch passes through the

on 1S
%ﬁx+3y 0 b) x-3y=0"“
(c) x+y=0 (d x-y=0

Jod x> + Y2 — 6x + 2y = 0 ® fonr & miteEs A ﬁ%ﬂ%mﬁgfé%ajaﬂé’r%@,,/

(@ x+3y=0 | b) x-3y=0
C +yv=0 d —y=
() x+y d x-y &
A circle passes through (0 0), (a,0) and (0,b). The co—ordinates’of its centre are _
@ (ab) ' ® (b a) -

© (33) 45 (22) s
g T9 (0,0), (3,0) M3 (0,b) IJT gHIT" J_| e g @AM witEEs 96

(a) (6; b | ®) (b a)
@ (3 @ (&2

50. The number of tangents which can be drawn from the point (1,2) to the circle xXX+y =5 .

arc

(@ 1 - 2 |

() 3 d o
Huaﬂéu@é’rﬂfumﬁiaa'fwf‘afée(lz)smx +y2 Sézvsfuétrmwnaéwaﬁ

(@ 1 b) 2
© 3 @ o
51. The circle on focal radii of a parabola as diameter, touches the
(a)  axis (b) directrix
tangent at the vertex ' —d)~ None of these
A %aawmau—f%»m%aaa&»maanaa%a?;
(a) "AHH (b) directrix . . |
© 2J2aH 3AUTA @ fegst o & st 5 b ‘
52. The eccentricity of the conic 33(2 +4y’ =24 is R
1
@) . 3
> - @ 3
gy 3x% + 4y* = 24 T nATII I
' 1 7
® 3 | R
© 3 e @ 3

Theoentreofthecurveﬁx,i?yz+l6x 18y -11=0is
(@ (=2,-1) T 21

© -1 EENC UL I
Zad 4x° + 9y? + 16x - 18y -11 =0 T T / “ M
(8 (=2,-1) 2 (b) -2,1) a _\
© (-1 @ W L AR
c ( n ' g
B 7«“‘)) "y $= fy no _w{,\\ v (Maths)
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54. The number of tangents to the hyperabola L2 131 = 1 through (4,1) is

T 2 O

Wéfwﬁwxz—%f:l%m,l)aﬁﬂuaﬂéu@érﬁﬁw%

4

(@ 1 V b) 2
(© O @ 4
55. Ife, e are the eccentricities of hyperbo]as—— ;— =1 and —z-’— %:; = 1, the
/(a‘)” e=e ‘(b) e=—e'
' 1 1
(c) ee =1 = + == 1
dad e 3 e 3 x—Z—y—z=1m§'£_¥i=1 I yed fie 96, fed
b2 b2 a2
(a) e=e (b) e=—€
() ee =1 @ =+—==1
56. The radius of the director circle of the hyperabola —— X; =1is
. b A
(@ a-b o /({a—b? IR _
% Ny @ VaZ+b? S T D
a@zﬁaw————1%ﬂmaaa?mauﬁe'w% },_/Jﬁ
: ' 4
(a a-b ’ : . (b) a’—b* YRR & ' C,(s.l/_' )
() VaZ=b? | @ VaZ+bz R,
87. The ratio in which the lme joining (2, 4, 5), (3, 5, -9) is d1v1ded by the YZ—plane is
/ﬁf}‘ (b) 32 T
% N d 4:-3 |
f‘ﬂnfeg(z 4, 5),(3 s, -9)aqae'TéuTYz—p1aneme—a%w€r %
@ 23 ® 32 & o
© -23 . @ 43 qw’
58. The direction ratios of the line Wthh is perpendlcular to the lines — = y+;7 =

x+5 y+3 z—4

}Dél='2'—zare | ‘ o @)‘rS\

@ <457 (b) <4,-5,7> |

© <4-5-7> @ <457 R %as a
S 2 fa wipurs o fa duret = y‘_‘;7_.z;6mgx:5=y:§:z_—:%£8%

(@) <4,57> ®) <4,-5,7> 23
(C). <49 ‘-5 ’ —’7> (d) <—4’ 5’ 7> 7] 'f ‘{ )
(Maths) 12 ' b ) B
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59. The direction cosines of a lme equally inclined to the co~ordinate axes are

(@ <L, 11> I () IR o 05—*—-’
() <0,1,0> /(ﬂ’r \/_ ‘/_ \/_
WMW?WB&TUﬁW%%ﬂTmsmeSm
(@ <1,1,1> _ (b) <1,0,0>
(c) <0,1,0> (d) <\/—1_ ‘/i_ %>
}, \1 U
60. The distance of the point (3, 4, 5) from Y—axis is 0 2 =0
(@ . (b) 4 ' M =0 |
(© d 34 - J:/rp{ &
1%?(345)érY—maHfH?€?ﬁ3 9T
@ 3 i (b) 4 \
© 3 g ./‘@il')lx/ﬂ | Y/ru"(',b | (
61. The line xIZ = y;B = z: is, ,
(a) parallel to X-axis ., ' (b). parallel to Y—axis
gZT . Pzarjllsl_go _Z—za_)iis . /(d’)" lies in a plane parallel to XY —plape ey
1 2 .0 . e O
(@) X-WIAH T AHG39 | (b) Y-MIEH € AHGS .
. (©) Z—maﬂrnémmga (d) XY 352 ANBEI 3B RI I
@ g{e between the lines x> x-l y=2 and y= -1, z=01is
/ L ey
© @ 3
aH'?Tx—l y—2m§y—lz—0 f’e’G&"‘dHE?I ,
@ 3 o T
. w
© = @ 3
63. The foot of perpendlcular from (a, p ) on.Y—axis is —
' (@ («,0,0) » - _7 (0,B,0)
© (0,0,7) oL @ 0,0,0)
Y-aHH 3 (o, B,y) 3BFTUTI
(@ (,0,0) . ® 080
(¢) (0,0,7) @ (0,0,0)
64. The intercepts of the plane 2x — 3y + 47 = 12 on the co—ordinate axes are given by
(@ 2,-3,4 A 6,-4,37 | 9 .2
- 1 11 N =*7
(c) 6,4,-3 @ =33 q .

fb FHTS WS wiaHie 3 3% 2x — 3y + 4z = 12 € intercept &3 a2 75
) (a) 29 314 (b) ?’—‘1’3
(C) 6a 49 -3 (d) ;v_:r;

.(Maths)
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If aline makes angles a, [3 y with the three co—ordinate axes, then cos 2a + cos2f +

cos 2y =
(a) 2 Ab) -3
(C) -1 /W 2

A9 ¥ ur 55 AN mifteds WerTRT 5% 3 o, B, y IE8 T I, fa‘dcosm+
cos2fB + cos 2y =

(@ -2 (b) -3
C© -1 | ) 2 ( b nbs): (0,7%)
‘ - — . - q b' ¥ b)’}
Shortest distance between the lines # = a;” + Aband # = a; +ybis. -
(a) |, | B (B) [a, xb| ) . L
I : /(; Y i) / ‘)

|dy x a3 | | l@-a x| ) — (DY)
( ) b —_— - Age.--r—""”‘
|B] . H] -

et #f =a;’ +/1bandr—a2 +yb1é€&"‘dﬂ€3'w2ﬁ83 W
. |a1 x b| |a2 X bl
v (a) 5] | (b) Bl
1@, x @3 |(az-a,) x b
© =Fr @ =
The square roots of 3 —4i are _ 2
/%(24) ? , (b) =@2+1i) (’
() (3 +4i) @  +(4-30) N\ R /
| 34i ¥ TIHS IS | |
(@ =(2-i) o (b)) x(2+1i)
C o (¢) (3 +4D) o (d) +(4-3i)

68. If z is a non-zero complex number then the number of SOlllthl’lS of the equatlon

z? + |z|2 = 0 is ‘ e\ B
@ 1 72 “
¢ 4 ,(d)/'nﬁmtely many
ﬁaazfeaaafﬁaa;rf‘zamaﬁfaamﬁaaﬁz + lz12=0 %awé’rrrﬁ:m%
(a 1 : b) 2 | .
© 4 (d) nmaaaw% S
69. Ifsmx+cosx—2thensm X + cos xlsequalto
" (a) ) 0 ‘ =%y 2
(c) 16 - d 1
AT sinx + cosx = 2 fE‘cIsm“x+cos x IIET O
@ 0 ) B 2
) 16 . @ 1
(Maths) - o 14 - B
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mA +c0sA =1 then sin24 is equal to Swml¥
' b) 2 ¢o’ -
@ % B g 09
ﬁa‘o’smA-FcosA—lf%BsinZA 989 J L&”’l&\ |
@ 1 ®) 2 )
) 0 d '
@ The value of sin?75° — sin?15° is
1 V3
| (@ 3 b
| © 1 | @ =2
?O sin?75° — sin?15% ¥ H& J
@ 3 ® = \
- NI V3 : /}
© 1 @ 2 Lon B
72." The general solution of tan 3x =1 is 8 f,'('v\ |
« . == n n
(a) nmw+ % | P
(© nm. d nmt3
. tan 3x = 1T AU9S 3% 9 4
@) nn'+- (®) 2515'*"11"2'
“(c) nm (@ nmts

1

~ 73. SThe number of solutions ofsin?6 + 3 cos @ = 3 in [-mn]is .
(a) . - 1 | HEL O
A e 2 (d) infinite

- sm29+3cose 3in[-m,m ]éﬁwéfﬁﬁmﬂ%

@ O | _ (). ‘,. : "
© 2 . @) o3 2%, °
' x 0z dz 5%
74. Ifz=xyf(;),thenx;;+ Yoy~ |
(@ z - By 227 .‘
© 3 @ o A
ﬁaaz=xyf(§)f‘aax-ai+yﬁ= | S
(@ z (b) 2z ‘
© 3 S @0 |
o z 15 - | (Msths)
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75. Ifu= xythenaxls ' @u« \51;,

@ o . yx¥~1

() x¥logx ) | N
Hod u = xy.@ax ,}-1 9?4\ Ly

(a
, -1 .
? x” log x d x? | z 9

76. Ifx =rcos@,y =rsin6,then o
9x’_ g 0r . ) X1 : G
/("ﬂ/i 1 ax O or  rdx 2= ~
/ax ar o o Cn A g | IN, J’
ar  ox \, . ) o (d)a— . _ ‘)ﬂ S
Aed x =rcosf,y =rsing, feg | 29
x _ . or T e _1ar 7% 1 2
® %=l O = nrI” "
ax_ar : aor o ) . , . @
© == @ =0 L=
< oan R s . A,

a(wv) a(x,y) _

a(xy) a(uv)a B ] | cgajc))’ n 2-7(’

(@ o7

- i B
dup) | A(xy) _ , . o - T *34 %JL .
0(xy) = (uv) ' R o gL= T
R R o e 1T
© 1 ‘ - (d) - fegst fog et ot ?ZL:)/;:\ |

78. ‘The function f(x,y) = |x| + |y| is
- (a) discontinuous at the origin T

(b) differentiable at the origin =~ -+ B | o /?/:/ 31"3__,.'

(c) continuous as well as differentiable at the ongm e —— I
continuous but not differentiable at the ongm o q ﬂ 29
@S f(ry) = lxl+ 1y L ‘E(? e e
() g ‘3 mifsdse e \ J
(b) ndz 3 ez e
(c) s ‘3 f5dza 3 Fasiar A L %
@ »wds3fdsewe Bevm a0 RASS
79./.?;msﬂ'mum number of pbirits of intééééﬁbh of 8 straight lines is
9 B’ O 8 . _,
™\ (c) 16 s (@) 56 "
@ 8 fifdinit Juret ¥ are ﬁ:??»fr & ”fflUGBH | |
(a) 28 ) 3 e |
© 16 ) 56 | ‘
(Msiths) 16 e , | B
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80. The number of words which can be made out of the letter MOBILE when consonants

—

always occupy odd places, is : SO R 3¢ = 37‘1
@ 20 | /«/A | - T 4

9 @ 30 | 9
méﬁfdmﬁmﬁfaeasmomwiwﬁwnaﬁﬁﬁ@faﬁmmfauﬂm?
w8 I, I | , @xz:é?"

@ 20 ) b 36
© 9 ( ? J @ 30

81. Which one of the following statement is incorrect ?

(a) Every cyclic group is abelian. | ,
(b) Ifevery element of a group is its own inverse then the group is abelian.

' /(e)’ The ring of integers is not an ideal of the ring of rational numbers.
: very subgroup of a non-abelian group is non-abelian. o
- ffant fo5 faog qEs aB3 9 7 L.

-
"

T 2" D ) SR v e

(a) T TS AHT abelian J - | f :

(b) .ﬁaaﬂaawa%a'yaésﬁafenwww%%afeamabeﬁan% .
(©) yaa»‘ia*erﬂar,manaan?af%mmefwaﬁa ' | |
(d & non—abelian AHT T I3 QuU-AHT non-abelian G

82.  Which one of the following statement is correct 7 |

(@) A field has no ideals.

),)/Every subgroups of an abelian grohp is abelian.”™
~\="(¢) A unique factorization domain is a Euclidean domain.

83.

84. Ifaand b are positive integers suéh that_ t_heir H;QTF{ (a,b)

(d) ' Every maximal ideal is prime:

ot fidfamr 29 faoa IS AT I 7 A
(@ g izge St seRadtde it =
(b) féaabelianera%aeu-m_mabeuana. o
(c) f¥ stz gEeds g Euclidean 36 3

For the Euler ¢ function, $ 6)= __— Nl o

(@ 1 S /(BT/Z , | u . 1{/5'

€ 3 @4 - A4\
Euler ¢ 255 ¢ (6) = & oo T 2
() 3 - o @ 4

= 1 then (atb, a-b) is
(@ 1 2 —
(c) eitherlor2; (d) neither 1 nor 2 _ : &
35q a w3 b 2 Tar3HE yIenia I 3t 7 @I T HCF. (8, b)=1 feg (atb, ab) 3

@ 1 b 2
(c) Ar1 A2 ' (d) 182
17 - (M.dn)
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. + . . —_ ﬂ ab € Q+
85. Let Q" be the set of rational numbers with operation **’ defined by f__i.!l =37 '
- The identity of the group (Q", *) is . | ‘

@ o 77 1 |
© 2 | ///g%f |
v 7% iU e T e Ae

s &8 Q', axb = %’i,a,b € Q* eI Y3 BUIES

3, feg Ao (', ») & ufE 3.
(@ 0 : b 1

(© 2 | @ 3

86. In the ring of integers, every ideal is .
- (a) prime A6y maximal
' % principal ~ (d) prime and maximal

yds vist @ fex 9 99, e e d
(a) s - (b) nfaa=zH '
© uS S () o i3 s

87. Ifp and q stand for statements _
p : it is hot, q : it is humid then pA(~q) stands for

(a) Itis hot and humid. : (b) Itis humid but not hot.
It is hot and it is not humid. @) It is neither hot nor humid.
~ Add p i3 q TEE T6 | .
p: feg aaH 3, q : feg e I 13 pa(~q) I o
@@ fegaeH»3fifgd () feg fifgr I U9 I/ &t

(é)‘feam_%m%%afﬁv&iﬁ (@) feoat3tamH I & g

88. ‘Every group is isomorphic to a permutation group’ is . _
() Fundamental theorem of Arithmetic (b) Fundamental theorem of Algebra
(c) Chinese remainder theorem ~—TCayley theorem ‘ '
‘T35 T g Ufgea3s AHT 3 isomdrphic J&r ” feg I
@ (a) waartes T glonmet AUz ~ (b) Algebra = gformst faois
(c) &t s fruf3 L@ _ Cayley fAU3
6

89. A root of the equation ).(f -x-4=0 lies.l'letWeérll

@ Oandl AP and2

(c) 2and3 , —_Ady~ 1and 3/2.
 AieEs X —x-4=0ys EAfmaT R o6
(@ Oor31 | (b) 1n32
() 2n33 ' @) 1332
(Maths) ' 18 | | B

Scanned by CamScanner



90. Newton—Raphson method fails when

(a) f(x) is negative _/(ﬁ(f}x) is too large
% J(x) is zero . (d) None of these
Newton—Raphson feut @% J #fet 3 ae
(@) flx) ide3H I (b) fix)FIITFTJ
(c) fix)fAes 9 (d e &t
91. Which of the following method always converges ? v
" Bisection (b) Newton — Raphson
(¢) Secant N{ethod (d) Iteration Method
Jot fodhnrt i3 faodt fedt onmr Iefes 3t 3
(a) TERTES - (b) fs@zs-Jems
(c) Secant fedt (d) Iteration feut
S;;oyd difference operator A and shift operator E are related by
A=E-1 A=E+1 .
— ) A=E+2 - /ﬁg A+2=E b2
Forward 33 8% A %3 shift operator E A¥US I8 /'V\l
(a) A=E-1 (b) A=E+1 '
(c) A=E+2  (d) A+2=E
93. The number of sub—intervals in Simpson’s % th rule are multiples of
2 | A7 3
(c) 4 d) 8
Simpson © %f'?wm f&g Bu-nizgwt &t Aftnt gIew 3
@ 2 | (b) 3
© 4 ! | @ 8
@ Runge—Kutta methods are used to solve | N _ o
(a) Partial differential equation*~ (b)  Wave equation “~ ‘ P
(c) Heat equation - . (d) Ordinary differential equatlon g
Runge-Kutta fdmi =7 f‘E‘F@ Ju et el At 9
(a) YA 3T mﬂaa?s . (b) < AftEs
(¢) 3 RHISES - ~ (d) FAUSS ITIHI AHISES
9s. Whlch of the following is not a measure of dlspersion? N
(a) Variance v , (b) Mean dev1at10n '
Mode (d) Standard devnatlon
Jot fifer 28 frogr WA @ HU &Y T
@ foa3 (b) Wofewme
(c) =T& . d). Yy fegse
B 19 (Maths)
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96. The difference between the greatest and the least value of observation is called

(a) Variance (b) Standard deviation

(c) Mean deviation | —& Range ’

SES 2 nifte3H m3 f58a3H e feow gax aa8er J e

‘@ B b wpnufEss 56

(c) Wufeugse (@) fermET 44

\A

v e
97. ' The variance of the data 2, 4, 9, M 0 V
(@ 6 . 8
© 10 e e

2,4,6,8 109 fg537 3
@ 6 - ®) 8
© 10 | @ 12

98. The mean deviation of the numbers 3, 4, 5, 6,7 1s

— @

(©

maT34567erHuﬁeezv>E?l 3 | |

@ & N
C ' . c '
- . o

99 There are four addressed envelopes The probablhty that all letters are not laced in the
right envelopes is

(a) % \/ | | M

(C) 23 ‘ . (d) %
mwﬁz&a@ﬁ%@%amwfamﬁw%w
= TS o
@ CE
' o1
%ﬁ | G
100. Four coins are tossed. The chance that there should betwo tails is _\~\‘T \AT .
@ < ® 3 L -
3 , 1 ' \(1 -
AT 5 @ 3
, afafﬂa’(n%aréamwﬁs(eéﬁaé@ﬁ% ; :(/
"1 1 .
@ 3 ®) < 76 L
© 3 @ =

Cunso - 0 /)@
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-101. The probability of three mutually exclusive events A, B, C are %,% 1 Tespectively, is the

statement -

(a) true 5 wrong

(¢) could be either (d) do not know o

35 mutually exclusive events A, B, C it AgeseT gHEI 3’3 % 95 feg TEs

(@) FAITI | (b) I3 9 .

(c) TS JAAT I ‘d) usTEII
102. If the mean of a Binomial distribution is 20 and standard deviation is 4, then number of

events is - M2

(a) 25 : 0 L

0 75 100

ﬁaafeaearéfeséfnms'zoir UH femE 4 3, events T Aftor I

(a) 25 - - (b) 50

(© 75 : (d 100

103. A speaks truth in 60 percent cases and B speaks truth in 70 perccnt cases. The probablhthu7 1

that they will say the same thing while describing a single event is (,\7 o ‘?' oo |

(@) 0.38 ®) 042 ————
) (¢ 012
g :60q@mawﬁ€mwﬁm§%mﬁammﬁlwﬁ
@Ufeamaeaﬂﬁeaﬁ%ae’mam %{p{%ﬁf
(2) 038 ® 042 ey TR
(© 0.12 (@ 054 - ur

104. ' In a non-leap year, the probablhty of getting 53 Sundays w or 53 Thursdays :
b

lS ) , (b) 2 lﬁ
@ = e ot
/w)/; O3 5 ks
FﬂUH‘EﬁE’Hﬁ »?E@'raqrﬁ )-TGIETE"EIHT53 dgeg J= I HIEsT I |
2 ' .
(@ '; () 'Z',
(©) -3 @ 3

105. A prob]em in Mathematlcs is given to 3 students whose chances of solving it mdmdually

)OO

are l = and . The probablhty that the problcm w111 be solved at least by one is 23 (

) | o il erk ¢ B

5 )

N
we Y =w

@ 3

E

(a) -3 (b) ':1; l)ﬁg /j
11
© 7 @ %
B y ' | 21 (Maths)
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106. With the symbols having their usual meanings, the standard deviation of the Bmomlal

distribution is ° -
))/‘/npq (b) Vnp
() npq d) pq
Y symbols 2 »J8 ATU9s 295 @8 I 3t d-aret €5 @ yH feu®s I
(a /npq (b) Vnp

() npq - @) pq

107. Which one of the following is true ?
(a) If the mean of a Poisson distribution is 5 then its variance is 10.
The mean of a Binomial distribution is 5 and standard deviation is 3.
The mean and variance of Poisson distribution are equal. el
(d) Skewness indicates peakedness of the frequency distribution.
I&t fefanrt f&9 faazr At 97
(a) ﬁE(HPmsson%'gE?TMHBS?IBT@ﬂéT@?ETIO?
L ®) ewé’res?r»mas%m%wﬁam3%
. (¢) Poisson ¥3 T WA i3 3T MG 05
(3) Skewness WSSt €5 & ez § Tar@S 9

- 108." Which of the following statement is correct ? : -

(a) Every linear programming problem (L.P.P.) admits an optimal solution.

(b) A L.P.P. admits a unique solution. - :

fa L.P.P. admits two optimal solutlons then 1t has an infinite numbers of optimal
solutions.
(d) A L.P.P. always admits two optlmal solutions.
It ffanr &9 faoz aEs AT 37
(a) 9K linear programming problem (L.P.P.) f&a 8z U5 Hawr 3 -

(b)y f& L.P.P. feduzE 5 Hawr J
(¢) 79 L.P.P. eaz%ﬁww%%afaﬂémez%maa

d fE¥ILPP. aﬂweaz%azvsnw%

109 ‘Maximum or r minimum of the objective function subject to given constraints, occurs only
at the boundary or the corner points of the feasible region’. This theorem is known as
‘Fundamental Theorem of

i Algebra - M Arithmetic
(c) Calculus 47" Extreme points
fﬂﬁﬁ)ﬂﬁ@ﬁﬂﬂgﬁé#ﬂf&@ﬁ%ﬁ@wwmmmwm
CERSGEN |f8HfHu136fEﬂ%8Wérfﬂuf3%§3 ‘I Ao Aier 3 |

(@) W 7 (b) nix afss
) uIoH | @ Foltos fig | o
(Maths) 22 ' | ‘ B
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110. A weight W hangs by a string and is drawn aside by a horizontal force until the string
makes an angle of 60° with the vertical. Then the horizontal force and the tension in the |

string are
(@ V3w,w (b) V3w,2w
() 2W,.w d 3w,w

fEa 39 W f&x g9 &% famr famrr 3 i3 ffa 37 76 oni® fiffonr 7 foar 3 78 3=
fa F39 e &% 60° = fex 3= g=@% I, fog Bt ¥ w3 A3I KT 3Sam 75

(a) VIW,W ) V3w,2w
© 2W,W | @ 3w,w

111. Two parallel forces not having the same line of action form a couple if they are

(a) like and unequal , (b) like and equal . ,
W/ equal and unlike . . (d) unequal and unlike - |
) emm@@ﬁemém%mm“raﬁ fea A=, EET@?TWUE ﬁa?!
./ 83T
(@) MBS M3 HAHS () iggs 3 NS
© MEr3ATeEEs - () ARG 0P AT neES

112. A particle is in equilibrium under three forces. Two of the forces act at ﬁght angles-tb one
another, one being double the other. The third force has a magnitude of 10 Newtons. The
magnitude of the other two (in Newton) is - | ' '

S 2,/5,4/5 . ®) 2,3

/ec)/ 2v5,3v5 @ V325
form oz s I3t ot Haes R Y | 3 3o T o ?s’nghtangle%smaaﬁmf
mﬁawﬁgmﬁlmmﬁmlomwmn%lemﬁwéww

(Newton o)y | -
@ 2545 (b). 23
© 2v5,3V/5 . G 2v3,2v5

113. The resultant of non—parallel forces and a couple ina plane always reduces to f -

a single force ~(b) a couple |
(d) None of these

two forces *
Jg- mm?mmmﬁaﬁa#mw%
(a) f‘EaaéTBTaB':‘H | ®) fexw=r
B | 23 . | B
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114. A body is in equilibrium under the action of three coplanar forces,
they must act in a straight line —

(@)
©)

they must meet in a point >~

(a)

(c)

115. If the resultant of two forces 2P and V2 P is V10 P, then the an

then

their horizontal and vertical components are equal —
they must either meet in a point or be parallel

coplanar 33t & fafonr nidts
$ Rt &9 aH Jgumit I
8g f¥x fifg *3 firmsdnit Trfientt 95
@awé@z%m%ug%nmmaa
(d) @aww%&ﬁeﬁaﬁmﬂwmmwmaﬁ

gle between them willbe  —

H3ws ff9 9, fea

(@ = _/Gb)/f;

© 3 @ 3 .
ﬁaaemsz%\/_?uf%En-rw/_P?r feg Gost fegara A d<ar
(@ = - (b) % . ' N
© 3 @ 3

116. A partncle starts with a velocity of 100 cm/sec and moves with a umform retard

ation of

2 co/sec’. Its velocity will be zero after .

F f 1[ (a) 25 seconds 50 seconds
(c) 100 seconds ‘ (d) 2 seconds
f¥a = 1Mswéémmmw%m%2mseczéfmﬁezmmﬁl
ferer 291 fAeg d A<dr
(@) 25 Afdet amie () 50 mfsiet amie
(c) 100 Afdet amE (d) 2 Afdet amiE

117. Maximum range for a given particle is possible only when angle of préjectiori is

(@)

(a)
(©)

o IdWIN %;O\Iaw|a

'I-‘-I-hl

séf»@mfemnae%fnaaaaq&uzvaz%

@
® 3
@ g

118. A constant force acting on a body of mass 20g produces inita veloclty of 27 cm/sec in

6 seconds. If the body starts from rest,
90
(¢ 60

Wlmde of the force in Dynes is
50 . | ‘

(d 80

20g YA €t 2rg 3 fer Afas 55 &K a9t I w3 fer few 6 Rfdet f¥% 27 oo
@3z a3t J | ﬁaaengﬁfaazrgﬂaﬁéaynynesféamérwgacf%mgew

90
60

(@
©

(Maths)

(b) 50
@ 80

24
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119. Let A and B be 3 x 3 matrices such that AB = 0. Then

() A=0andB-= o ® A=0o0rB=0
(c) |A| =0 and |B| = /(d')‘ either |A|=0or |B|=
E@Am%B€3x3ﬁ2ﬁanﬂa?sa’f3AB—o fes
(@ A=0mM3B=0 (b) A=0RB=0 )
© |Al= 0m§|B| d) #|A|=0# B|= 1 o- 1#5
~2
= ' ‘ -~ 22
120. The system of equations —Z:—Z);;:]:;_Z “has : }M’I ;‘/\g =2+
(a) only one solution — | (b) finitely many solutions
© no solution " (d) infinitely many solutions
At * +2y =11 .
—2x — 4y = 22 ® | '
(a) froe i dm (b) FI3 AT AN TS
(c) o IS &t @) mME3TB -y
121. If A is a skew symmetric matrix then |A|= : ._ [ !
@ T @ -l | |
0 @d 2
ﬁ'E(HAfé‘&skew symmetric Refaam 3 |A|=. -
(a) - ®) —"1
(@ . @@ 2
122. For a3 X 3 matrix A, if |Al 4 then |Adj A|=
@ -4 3
© 64 ' /FQ// 16
f€ 3 x 3 Aefoan A BET, Aad |A|=4, [Adj A|= . .
(@ -4 . (b 4 -' . z
(c) 64 @) 16 r A ,
- v | B 0 LY
123. IfAB = A and BA = B then B? is equal o AT 8 8
| /6)4 I (), O A % &
© ‘5% B . % 67
Had AB—A 3 BA=B, feg B 59=9 ~ | 25
@ I ® O b ) *
© A - . - @ B _ 8y
| | « be W
124, If Aisan orthogonal matnx then |A| i '
@@ 0 . (b)
| ) -1 -either 1 or -1
JﬁAfeammﬁzﬁaH%kmAl 2 & JSA ‘5
| @ o0 ®) 1 ‘&/1/ A
© -1 (d) either 1 or-1 0 Wﬂb
B ' L (5 (Maths)
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125. Rank of ‘upit matrix of order 4 is ( % 9
(& o0 ' (b) 1 |

D /@’ 4%1%are°rﬁzfaanereaﬁf3 @ /"]fﬂ
@ o0 () 1 | :;;ij

© 4 d 3

& 126. Which one of the following statement is true ?
| (a) Ifrank A=2 and rank B=3 then raﬁi/_\,B) 6.
(b) * Every square matrix does not satisfy its charactenstlc equation. )O

If A is an eigen value of an orthogonal matrix then is also 1ts eigen value.

_,,,(d—)"’"l:he eigen values of a skew symmetric matrix are all real.,
It fifontt RS foowr ams RT3 ¢

8 (a) WJ rank A=2 n73 rank B=3 f&3 Rank (AB) =6
(b)> I9 T9a Nefoan feret fenres miads § Hgre adt J9e . |
(0) Fraakfz'a orthogonal mame'TelgenHE?IBT éfelgen%% ,)"
(d) R skew symmetnc matrix @elgen)-mnmﬁa?i S ,5\1461 it

“127. If A and B are square matnces of order 3 such that |A| = —1 |B| 3 then |3AB| =

@ -9 - _ A 81 LT -3

(c) =27 (d) 81 '
?raaA»@B3eaﬁ%eaaTﬂz‘Faaﬂaa3TﬁjA|——1 IB| = 3f€H|3AB| o
@ -9 | b -8 Y denrtd
A=) : - o o g ‘HS) z A
© 27 | d 81 Qs “
128 If a matrix A is symmetric as well as skew symmetric then A i isa Abb "
% (a) diagonal matrix | ((.b)/Z&O matrix - \ \
N “(c¢) unit matrix -+ (d) triangular matrix Sy
N 3= & Aefaan A, symmetric »3 skew symmetric J feg A &
| /@ Tessst Refoan () fres Fefoam
(c) f‘ear?r ﬁzﬁian | | (d) - f3dE Nefoam

5.129 The set { x" ﬂgﬂgg@_&x_— 4 and 2x 6} is equal to

@@ {2,3} - ) 2,3}
© {2,-2,3} L A 0 } ) y”
Az {x:x'isintegQ; x> =413 2x =6} §9EI J | q/\/)/ & A2
7. @ 03 ® 2% 5
© {2,-2,3} o @)oo |
(Maths) | | ' 26 h B
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130. If A={x:xisreal [x|<1},B

N —

= { x:xisreal, |x-1| 2 1} then ANB is equal to

(-0 8L L)

@ 11,0 ®) [-1,2] A
e 1-1,2] @ 1-1,2 sl
A={x:xisreal,|x|<1},B={x:xisrcal,|x—l|21}thenAﬂBE'aTaH% A (\
(@ 1-1,0]. ®) [-1,2] N ,M,O
-1,2 d -1,2 A R
) 1-1,2] @ L2 | Ao L \A’*(\‘M‘ )
131. If A and B are two sets such that AUB = ANB then v/ i S/“L)
(a AcB | () BcCA .
A=B . (d) None of these A® i
AT A »i3 B @ e 05 3T 7 AUB=ANB, fag |
(@ AcB ® BcA | ¢
(0 A=B | (@) fogst &9 It &t : Ve

132. In a class of 100 students, 55 students have passed in Mathematics and 67 students have
passed in Chemistry. Then the number of' students who have passed in Chemistry onIy is
(@ (b) 33
©) 10 | _ (S
looﬁﬁ»rfaﬁﬁmré}%amﬁe'gss T%Femraéhr!‘a—:cﬁaurnaéazm%mw
awﬁesfeﬁmﬁe'ngréam Wémﬁmmkﬁmﬁswﬂ

(a) 22  ® B - |
() 10 | @) 45 () | é W
133. Ifa, b, c arein G.P., theﬁ log.x, logpx, logcx are in 6 Avbd> 1®
_ (a) A.P. = . ' ‘/‘bv G P . ﬁ'\61‘/
.P. : : (d) None of these . m(CM
a, b, c, G.P. ﬁ?ﬂﬁféﬁlo&x logbx,logcx'dﬁ | (Q)¢wfv
(a) A.P. - b GP | "
(c) H.P. (@) feger 99 S Bt
o | 3\
134. Ifx|<landy= x—x% + x°—x* + ..., then the value of x is \ é%'b ,\'&
e ’ \ ’
(@ vy ' lVy . '\z\ "_ g
© y-Vy y/(1-y) o )
ﬁa'alx|<1andy=x—x2+x3—x4+...,,f€‘o’x€T);TE5: A7
@@ vy (b) 1y |
© y-1y @ yQ-y
B | 27 (Maths)
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135 The next term of the senes 243 + 24 '1—6+ - 18
@@ = " M
(©) = - @ z-
Bt 2 ~+ + + + - T DA GH I | el
(@) "3 = . @ i
29 | A ol2
© 5 _ d 3 |
» ‘ A (v )
= Wg ’ -
136. Sum of nterms of the senesx/_ 2+ \/— 8+ \/_ 8+ \/— 2+ ..] ‘ :
n(n+1) . —_ - (n+1) -
@ 5= | ,/?o)/“ﬁ_ A
© VZ(n+Dn @ 2n(n+1) T @
R V2Z+ VB+ VIB+ V324 .. vt T AT Y (-
(@ 22 | e o
) VZ(n+1n T d 2n(n+1)

137. IfP, Q, R are the A.M., G.M., H.M. respectively between any two rational numbers a and
b,thenP-Qis | . | | 3 «€ %) K &

a-vb R 7 a+Vb
: @ - 2 . = S ( C\f(s
- Va+vb ' (~/E—\/3)2 2 gy
ﬁaap Q,Rf‘aﬁernmwzamara»@bﬁaavaAM GM., HM% faaP—Q%r
@ T o n R . Jo
Yu o NarB | o ) (e-vby? ()’
@ = (@ 7 | |
E e 1
fi 138. If the sum of the ﬁrstnterms of a series is 5n +2n then its second term is

(b) 16

@ oy ST

ﬁaafsaaér%uﬁj@nmewasla +2n%f8ﬂ?€nafm%r

(@ | R (b) 16 ¢ L2
'(c) 24 o @ 7 'S*QL’

139, Inﬁmum of the set of all posxtlve even integersis
E @ o T/ 4:5%-

RT3 TaT3HS A3 Yas wiaT @ A2 & Infimum 3

c

(@ 0 b 2
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140. Theset{>:n =12, . }is

/(a’)/élosed
(c) open but not closed

141. Which one of the following set is countable ?:

C

!

.09
1.

/83/ open

neither open nor closed
1 f

ﬁe{;:n=132....} 3 / |

@ ¥ (b) Y&

(c) YT YT € &It (d) @ g% & EY

(a) - The set of irrational numbers —7 (b) The set of real numbers o
The set of prime numbers —  _(d)— The set of transcendental numbers o
Jat fefant 189" faas Az fasatar D
(a) »iIIAt Rftmpet & e (b) A At & A2 |
(c) 13 Aftorst & Az (@) ugwmd At T AE
| ‘_ o | (1)
E‘ 142. T uences < (—1)"/n : n is a natural number > is "‘;,'6’—, ‘
_ convergent 1vergent d/ . :
‘ ¢) oscillatory—"" ' (d) None of these —
It < (=1)"n : n@az{%(aﬁama>% ' :
(a) oATIHET ) Ba-ferst
(c) wHAfET @ feaar fEg 3=t i
143. The series 1 +r+r1? + ... is oscillatory only if
(@ r<l1 : ’ (b) r<0
(7 r=-1 | r<o0
S L +r+r1’ +. oscﬂlatory RECCA _
@ r<l1 ’ . (b) r<0
(© r=-1 @), r<0 go«ﬂ((l,?
e f (%, K
10 ’ [ 0
144. The term independent of x in the cxpansmn of (x - ;) is . s o IV >\
(@ 1%term (b) 5" term ) o A
S 6" term (@ 11" term S
, \
.ﬁ;'ﬂgva(x—-) f&g x 3 p339 e 9 o ¢
(@ 1%term () 5"term 7
© 6"term (@ - 11" term ¢ -
145. Thegum of the coefﬁments in the expanswn of (l—x) is PR ’
0 | | 210 ’aé"’" \
© 10* d 10 °
(1x)'2 s RE T o iF 3 10e,”
@ 0 () 29 .8
() 10 | @ 10 LR
B 2 Co (Maths)
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146. If A and B are the coefficients of x" and x" " in the expansion of (1+x)", then
() A+B=0 ‘/M/A‘Bzo a=t, m*
(co A#B (d) None of these v > ™M
(1+x)" 2 R fg A »3 B x" 3 X" 2 7= 5, fed T
(@ A+B=0 ® A-B=0 r
(c) A=#B @ feast &9 &=t adt

147. The closed and bounded interval [a, b] is compact follows from P g
(a) Bolzano Weierstiass theorem (b) Cayley Hanulton theorem -
(c) Bionomial theorem Meme—Borel theorem v/
T »i3 HIHTET nisTs [a,b]a‘l.p-ﬂia’)qfauga
(a) Bolzano Weierstiass U3 (b) Cayley Hamilton ﬁ:TEFB
(c) Bionomial theorem ATtz (d) Heine-Borel RT3

148. If n is apesitive integer, then the number of terms in the expansion of (x + a)" is

(@ n . | /M+1

(¢) n-1 : (d n+2
A9 n ¥ Ta3HE Y5 vix 3, feg (x +a)" ammmama
(@ n (b) n+1
(¢) n-1 ' d n+2
- 149. The function f(x) == ,x # 0 is continuous at x = 0 if

(@ A0)=0 | 6, f0)=1
@ © A0)= —1 - %‘ cannot be continuous for any value of {0)

Wf(x)— ,x %0, x=03 f5d39 I Aag

@ A0)= 0 - | (®) A0)=1 |
© A[0)=-1 : (d) _f(O)%mHMgﬁﬁ?ﬁﬁﬁfaﬂa?

150. The function f(x) = ~is

A4y not continuous in ]0, 1] "~ (b) Uniformly continuous on 10,1]
(c) continuous in [0,1] y not uniformly continuous on 10,1]
s f(x) = =3 | |
(@ 10,1]3 f5dz9 &t () 10,1]3 ¥R fsdzg
© [01]3 fadse @ 10,113 fears fsdgg adt
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